



اسم: \_\_\_\_\_

التاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right) - \frac{3}{5} =$$

$$\left(-\frac{1}{5}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{3}{4} =$$



اسم: \_\_\_\_\_

التاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{6} = \left(-\frac{1}{18}\right)$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \frac{3}{4} = \frac{141}{4} = 35\frac{1}{4}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{11}{36}\right)$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{6}\right) - \frac{3}{5} = \left(-\frac{13}{30}\right)$$

$$\left(-\frac{1}{5}\right)^{(-1)} - \frac{3}{5} = \left(-\frac{28}{5}\right) = \left(-5\frac{3}{5}\right)$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{3} = \frac{5}{3} = 1\frac{2}{3}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{3} = \frac{13}{3} = 4\frac{1}{3}$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{2}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{111}{100} = 1\frac{11}{100}$$

$$\left(\frac{1}{6}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \frac{13}{2} = 6\frac{1}{2}$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \frac{1}{2} = \left(-\frac{13}{6}\right) = \left(-2\frac{1}{6}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{6}\right) = \frac{5}{18}$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{107}{45} = 2\frac{17}{45}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{6} = \frac{35}{48}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{4}{45}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{3}{4} = \frac{91}{36} = 2\frac{19}{36}$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{3}{4} = \frac{19}{4} = 4\frac{3}{4}$$